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Placement test — Writing — Korean

Print out this document or ask us to post a hard copy to you.

Read the following questions and try to answer as many as you can in Korean (handwritten). The
level of difficulty will increase as you move from one question to the next. You should stop this test
when you feel that you are struggling to answer any further questions.

Please do not use dictionaries or online translation tools as they may affect your score which would
result in placing you in a class at the wrong level.

Please answer the questions with full sentences;
Where do you live? — I live in Birmingham (not just ‘Birmingham’).

Bring this completed Placement Test to your Initial Assessment appointment. A language specialist
will check your answers and carry out a speaking assessment with you.
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